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UNIVERSITY OF NORTH BENGAL 
B.A./B.Sc. General Part-II Examination, 2022 

GEOGRAPHY 
PAPER-IV 

HUMAN GEOGRAPHY 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks.  

 SECTION-I
িবভাগ-ক 
Hkkx- I 

 Answer any one of the following
িনmিলিখত েয-েকান একিট  pেűর উtর দাও 

dquS ,d iz”udks mÙkj ys[uqgksl~ 

20×1 = 20

1. Discuss briefly on the Scope and Content of Human Geography. 
মানবীয় ɛেগােলর  পিরিধ এবং িবষয়বst সmেক� িবsািরতভােব আেলাচনা কর। 
ekuo Hkwxksydks nk;jk j lkexzhdks laf{kIrek NyQy xuZqgksl~A 

20

  
2. Briefly explain the different trends of population growth found in India since 

1901. 
১৯০১ সাল �থেক ভারেতর জনসংখয্া বৃিdর গিত-pkিত সmেক� িবsািরতভােব আেলাচনা কর। 
NksVdjhek Hkkjrek 1901 nsf[k fofHkUu tula[;kdks izo`frg:ckjs ys[uqgksl~A 

20

  

 SECTION-II
িবভাগ-খ 
Hkkx- II 

 Answer any two from the following
িনmিলিখত েয-েকান dিট  pেűর উtর দাও 
dquS nqboVk iz”udks mÙkj ys[uqgksl~ 

10×2 = 20

3. Write a note on the adaptation of Eskimos in the cold environmental regions of 
the world. 
পৃিথবীর শীতল জলবায়ু অĀেল এিsেমা জনজািতর অিভেযাজন সmেক� আেলাচনা কর। 
fodks fplks okrkoj.kh; {ks=g:ek ,sfLdeksg:dks vuqdwyuek fVIi.kh ys[uqgksl~A 

10
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4. Explain the relationship between population growth and resource use. 
জনসংখয্া বৃিd এবং সmেদর বয্বহার সmিক�ত আnঃসmক� আেলাচনা কর। 
tula[;k of̀) j lzksr mi;ksx chpdks lEcU/kokjs O;k[;k xuZqgksl~A 

10

  
5. Critically discuss the problems associated with the growth of world population. 

িবেƬর জনসংখয্া বৃিdর গিত-pkিত সmেক� িবেųষণমূলক আেলাচনা কর। 
fo tula[;k cf̀) lax lEcfU/kr leL;kg:dks vkykspukRed NyQy xuZqgksl~A 

10

  
6. Write a note on the physical characteristics of ‘Mongoloid race’. 

মেñািলয় জনজািতর শারীরবৃtীয় �বিশŶয্ সmেক� আেলাচনা কর। 
eगksyksbM tkfrdks HkkSfrd fc”ks’krkg:ek fVIi.kh ys[uqgksl~A 

10

  

 SECTION-III 
িবভাগ-গ 
Hkkx- III 

7. Define the following: 
িনmিলিখত pűgিলর সংjা দাওঃ 
fuEu lrZg: ifjHkkf’kr xuZqgksl~ & 

2×5 = 10

(a) Masai 
মাসাই 
elkbZ (Masai) 

(b) Y-Shaped Settlement 
Y-আkিতর জনবসিত 
Y- vkdkjdks cLrh 

(c) Gujjars 
gjর 
xqTtj 

(d) Optimum population 
কাময্ জনসংখয্া 
b’Vre tula[;k 

(e) Negative growth of population. 
�নিতবাচক জনসংখয্া বৃিd। 
tula[;kdks udkjkRed of̀)A 

 
——×—— 

 


